ApudmeTnka 1eNbIX IoKa3aTesnei

(D +(=7) =
90 +2=
7—(—6) =

5 —-(-2)=

£ +1=

9° +(-8) =

(4 +(-8) =

Mlata:__ Ouemea:
(—6) +(-9) =

3-(-7) =

10° +(-3) =

(4 —8=

22 -8=

(-2)"+ (5=

10° = (=5) =

8—(—7) =

(5" = (1) =

9° +(=6) =
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Mus: Mlara:___ Ouemxa ___
43 +(—6) = 58 (—6) + (-9) = (—15)
82 —2=062 3—(=7)=10
22 —5=(-1) 10° + (-3) = 997
() +(=7) = (-6) (—4)° —8=(-72)
90 +2=3 22 —8=(-4)
7-(=6) =13 (-2)" +(=5) = (-4)
5 —(-2) =127 10° — (=5) = 1005
43 +1=65 8§—(=7)=15
9% +(—8) = 73 5 - (-1 =2
(4 +(-8) = (-72) 9 +(~6) = 75

www.snowmath.com


https://www.snowmath.com

